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Questions No. 71t0 75 :.
Read the following passage carefully and answer the

Questions given below :

In 1912, the British explorer Captain Robert
Falcon Scott and his men were caught in a fierce
blizzard while returning to their base camp. After
reaching the South Pole all of them perished. Their
tent, buried under the snow, was discovered the
following year by Sir Ernest Shackleton. Robert
Scott was found holding in the dead hand an
unfinished letter addressed to his author friend,
James Barrie. After discovering the blizzard and
their impending doom, Scott wrote saying that he
and his colleagues were spending their time singing
songs and making pleasant conversation. Beneath
those lines he had written in bold letters one word
— COURAGE. When he returned to England,
Shackleton handed over the letter to Sir James
Barrie who read it and kept it in a box.

A few years later, Sir James developed some
defect in his right hand because of which he could
not hold a pen with that hand. The author despaired
of ever being able to write again. One day in a
disappointed mood, he took out Scott’s letter and
read it again. It lifted his spirits, and set him
thinking that if Scott and his men could remain
cheerful in the face of certain death, could he not
learn to face adversity bravely ? He picked up his
pen and began practising writing with his left hand.
In a few weeks he could write perfectly well with it.

71. Which of the following statements is correct ?
(1) Sir James Barrie did not practice writing.

(2) Sir Ernest Shackleton kept the letter in a
box.

(3) Sir James Barrie and Robert Scott are
strangers.

Robert Falcon Scott was cheerful though
he was sure of his death,

72.

73.

74.

75.

4G-1922-ET/2219.2 (18)

Consider the following statements :

A. Ernest Shackleton found Robert Scott’s
letter in England.

B. Sir James Barrie learnt to face adversity
boldly by taking the example of Robert
Scott.

Which of the above statements is/are correct ?
(1) Both A and B
(2) Neither A nor B

@B only

4) A only

/ -
Consider the following statements :
A. Sir James had some defect in his left hand.

B. Beneath the lines of his letter, Scott wrote
one word — COURAGE.

C. Scott and his men were caught in a severe
snowstorm.

D. Adversity makes one happy and content.
Which of the above statements is/are correct ?

@Bandc

(2) A,Cand D
(3) Aand B
(4) Only C
Match the following :

Column I Column IT
A. doom I. snowstorm
B. adversity II. disappear
C. blizzard III. difficulty
D. perish IV. destruction

V. fortune

Choose the correct answer :
A-IV; B-III; C-I; D-II
(2) A-IV; B-I; C-II; D-III
(3) A-I; B-II; C-III; D-IV
(4) A-II; B-I1I; C-I; D-V

Which of the following statements is correct ?

Sir Ernest Shackleton found the tent
buried under the snow.

(2) Robert Scott wrote a letter to Shackleton.

(3) Sir James Barrie was originally a
left-hander.

(4) Robert Scott wrote a letter when he was
buried under the snow.
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tions No. 76 to 80 -

the following passage ¢
stions given below : arefully and answer the

There is a computer j

could be a per'so;nalthio(;i;:;u avelly,
orkplace, or on your study table at 10: your
ecather report you get daily also invol e. The
computer but all of them do not fall into tl‘l’es the
category. They are different in terms of ha:i;ame
goftware, purpose, and everything else. Initizle’
computers were classified on the basis of their si 4
gpeed and cost, but now ‘there are many ns:oze,
attributes attached to them. Each and evere
computer must fall into one of the four categorig
respectively; supercomputer, mainframe computer
minicomputer and microcomputer. A compute;-
gystem consists of three primary components
namely memory, central processing unit and input /
output unit. The second one, the central processing
unit is the brain of the computer and it is also called
the CPU and it consists of a control unit, which is
CU and arithmetic and logical unit, which is an
ALU. The memory provides a storage medium for
the data and instructions to be executed. The
capacity is generally measured in terms of kilobytes

or megabytes.

statements :

76. Consider the following
rent in terms of their

A. Computers are diffe
hardware and software.

The storage of computers i'
measured in termsS of kilobytes

megabytes.
Which of the above state
Both A and B
(2) Neither A nor B
(3) Aonly
(4) B only
What is a PC ?
(1) Penultimate computer
(2) Primary computer
(3) Processing computer

Personal computer

4G-1922-ET/2219.2

s generally
or

B.

ments is/are correct ?

7.

78.

(19)

Consider the following pairs :
Category Computer
A First category  : Supercomputer <
B. Second category : Microcomputer
C. Third category : Minicomputer—
D. Fourth category : Mainframe computer

Identify the correctly matched pairs :
(1) A, C and D only
(2) A,B,Cand D
@A and C only ~
(4) A and D only

79. Match the following :

Abbreviation Full Form
& G _. 1. Compact Disc
B. CD %~ II. Control Unit
C. ALU /<III. Arithmetic and
v Logical Unit
D. CPU L IV. Arithmetic Linguistic
‘\ Unit
\V. Central Processing
Unit

Choose the correct answer :
@ﬁl; B-I, C-ILD-V ~
(2) A-II; B-I; C-IV; D-V~

(3) A-I; B-II; C-1II; D-IV
(4) A-I; B-II; C-IV; D-III

Consider the following statements :

A. Initially computers were classified on the
basis of their size, speed and cost.

B. Now computers are classified only oD the
basis of their speed.

Which of the above statements is/ar
(1) Both Aand B
(2) Neither A nor B

@A only

(4) B only

e correct ?
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Questions No. 81 to 85 : !
Read the following passage carefully and answer the

questions given below :

It seems to me a very strange thing that large
numbers of women should have met together
tonight to consider whether the vote is of
importance, while all day long, across the water, in
the Peckham bye-election, men whether they realise
it or not, have been exercising it, and in exercising it
settling for women as well as for themselves great

questions of public importance.

What, then, is this vote that we are hearing so
much about just now, so much more than people
have heard in discussion at least, for a great many
years ? I think we may give the vote a three-fold
description. We may describe the vote as, first of all,
a symbol; secondly, a safeguard, and thirdly, an
instrument. It is a symbol of freedom, a symbol of
citizenship, a symbol of liberty. It is a safeguard of
all those liberties which it symbolises. And in these
latek days it has come to be regarded more than
anything else as an instrument, something with
which you can get a great many more things than
our forefathers who fought for the vote ever realised
as possible to get with it. It seems to me that such a
thing is worth fighting for, and women today are
fighting very strenuously in order to get it.

The meaning of the word ‘Strenuously’ in the
passage is
(1) Easily
(2) Weakly
(3) Lightly

Forcefully

82. Why did a large number of women gather
together ?
(1) To fight against men.
(2) To fight for women’s right to vote
@ To vote in the Peckham bye-election

81.

83. Men’s attitude in settling the important

issues is
(1) considerate
(2) cruel

(3) bilateral
uni]ateral

Consider the following statements :
A. Right to vote safeguards all our liberties.

B. Our forefathers fought for the rights of
men only.

Which of the above statements is/are correct ?
(1) B only

(2) Neither A nor B

(3) Both A and B

A only

Consider the following statements with
reference to England of those times in the
context of the passage :

A. Women had the right to vote.
B.
C.

Only men had the right to vote.

Both men and women had the right to
vote.

Right to vote was a symbol of freedom and
citizenship.

D.

Which of the above statements are correct ?
@B and D only

(2) A, C and D only

(3) A and C only

(4) B, C and D only

(4) To discuss what their forefathers did
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Select the option with the correct order for
forming a correct and meaningful sentence :
A. of trousers this time

B. tomorrow is my birthday

C. buy a beautiful pair

D. and I am going to

Choose the correct order :

(1) B,A, D, C

(2) C,D,B,A

G BG4
@ A,C,B,D

Select the option with the correct order for
forming a correct and meaningful sentence :
A. from my friend that

B. Ihave received

C. an email

D. he is going abroad

Choose the correct order :
@B,c,AD

(2) A,C,D,B

(3) D,A,C,B

(4) B,A,D,C

Select the option with the correct order for
forming a correct and meaningful sentence :
A. refrigerators and televisions
B. appliances these days
C. household electrical
D. are the most used
Choose the correct order :
(1) B,A,C,D
(2 D,C,B,A
A D CB”
(4) C,A,D,B

Select the option with the correct order for
forming a correct and meaningful sentence :

A. this year I would

B. my teacher advised me that
C. surely succeed

D. ifI worked hard

Choose the correct order :

(1) B,C,D,A

(2) A,C,B,D

(3) A,B,D,C

@B,D,A,c

91.

92.

93.

(21)

n with the correct order for

Select the optio
aningful sentence :

forming a correct and me

A. isdueto
B. the rotation of the Earth _
C. the formation of day and night

D. on its axis
Choose the correct order :

(1) B,D,C,A
2y D, G, B, A
C,A,B,D-

(4) C,D,B, A/

Select the option with the correct order for
forming a correct and meaningful sentence :
A. to the post unless

B. two or more members

C. he cannot be elected

D. propose his name

Choose the correct order :
@¢c.ABD

2 D,B,C,A

(3) D,C,B;A

4) B,A,D,C

Select the option with the correct order for
forming a correct and meaningful sentence :
A. assigned to me

B. complete the work

C. Iwould have gone earlier

D. butI could not

Choose the correct order :

(1) B,D,A,C
@)C.D,B,A -

(3) C,A,B,D

(4 D,B,C,A

Select the option with the correct order for
forming a correct and meaningful sentence :
A. he plays

B. his friends

€. on weekends

D. soccer with

Choose the correct order :

(1) B,C,D, A

(2) D, B, C, A-

(3)C,D,B, A

(4) A,D,B,C
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94. Select the option with the correct order for
forming a correct and meaningful sentence :
A. going on for the last month
B. the cultural programmes will commence
C. for which rehearsals have been
D. on the fifteenth of this month
Choose the correct order :
B,D,C,A

(1) C,B,D,A
(3) B,D,A,C 7 (4) C,A,D,B

Select the option with the correct order for
forming a correct and meaningful sentence :
A. for more than five years

B. score a century

C. although he has been playing cricket

D. he has not been able to
Choose the correct order :
(1) B,C,A,D

(3) D,B,A, C

95.

(2) A,

@c.

Read the passage given below and the five questions
(96 — 100) based on it. Select the correct option to fill
in the blanks.

C,D,B
A,D,B

E

Childhood a time when there are few
responsibilities to make life difficult. If a child has
1 2 after and loved,
whatever he may do. It is improbable _ 3 he will
4  given so much without
having to do anything _ 5

is

parents, he is fed,

ever again in his life

return.

96. Select the correct option to fill in the blank 1.
@) wealthy (2) old
(3) fair (4) good
97. Select the correct option to fill in the blank 2.
(1) talked @) looked
(3) chased (4) run
98. Select the correct option to fill in the blank 3.
(1) though (2) but
(3) that @it
99. Select the correct option to fill in the blank 4.
be (2) are
(3) was (4) were
100. Select the correct option to fill in the blank 5,
(1) by in -
(3) for (4) with

4G-1922-ET/2219.2
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101. Rearrange the sentences in a logical order to
form a meaningful paragraph :
A. Nalanda, the oldest university in the
world, followed this Gurukula system.

The ‘Gurukula’ was an ancient system of
education in India.

Students from across the world useq to
flock to the university for studies.

In accordance to the system, the shishyag
used to live with the Guru in the same
house.

hoose the correct order :
B,D A C
(2) B,C,A,D
(3) A,D,B, C
(4) A,B,D,C

B.
C.

D.

102. Rearrange the sentences in a logical order to
form a meaningful paragraph :
A. The Prime Minister of India had launched
the Swachh Bharat Mission on 2nd
October, 2014.

B. Under this programme, more than 100
million toilets were constructed in rural
India.

C. The objective of the mission was to achieve
universal sanitation coverage.

D. As a result, all villages, cities and states

declared themselves ‘open-defecation free’.
Choose the correct order :
(1) B,D,A,C
3) A,D,B,C

(2) B,C, A, D
A,C,B,D

103. Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. Pradeep does not like working in Bombay.
B. So, he finally decided to relocate to
Hyderabad.
C. Without losing time, he gave an
application to the manager for a transfer.
D. Itis because he has very few friends there.
Choose the correct order :
A,D,B,C
(2) C,D,B, A
(3) A,B,D,C
(4) A,C,B,D -
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04 Rearrange t]?e sentences in a logical order to
form a meaningful paragraph :

A. My friend asked me, “How is the new

hotel ? Is it good ?”

1 said, “I have no idea.”

A new hotel was opened yesterday.

The reason was 1 did not visit the hotel.

B.

C.

D.

Choose the correct order :

1) A,D,C,B
@¢c.ABD

(3) A,D,B,C

4) C,D,A, B

Rearrange the sentences in a logical order to

form a meaningful paragraph :

A. Ashoka the Great was a great emperor of
the Mauryan Empire.

B. The devastation caused by the war made

him renounce violence.
he got initiated into

105.

C. A few years later,
Buddhism.

D. He fought a brutal war
victoriously.
Choose the correct order :

in Kalinga

2 D,B,A,C
(4) A,B,D,C-

106. Rearrange the sentences in a logical order to

form a meaningful paragraph :
A T came to know that his train had arrived

much before the scheduled time.
B. SoIwas quite disappointed.
C. Yesterday I went to the station to meet my

friend.
D. But when I reached the station, my

had already left.
Choose the correct order :
(1) A,D,C,B
(2 C,B,D, A
(3) A,D,B,C

friend

C,D,A,B/

4G-1922-g1/2219.2

107. Rearrange the *

108.

109.

(23)

v (3) A, Bl C’ D

atences in 2 logical order to

ph:

form a me paragra _ ‘
Ao Sl?ddenly my mother fell seriously ill.
B: And I had t0 cancel the t:rlp
C. The weather 18 very hot 11

summer:

e

Hyderabad in

t order :
¢ C.D,AB”

Choose the CcOITe
(4) C, B’ A’ D

1 A, DG B
Rearrange the sentences in @ logical order to

ingful paragraph :
uble reading:

B I wanted to do ™y
C. Butit was getting dark.

D. Sol decided to switch on

Choose the correct order :
(1) A, C,B,D 2 B,D, C, A

(3) A, B,C, D’ B,C,A,D

gical order to

the lights.

Rearrange the sentences in a lo
form a meaningful paragraph .
A. She wants to g0 out this evening. -
B. She tried but could not get a babysitter.
C. But the problem is she has two young
children.
D. Soshe has postponed her programme.
ocose the correct order :
A, C,B,D.
@2) D,B,C,A
3) B,C,D,A
(4) C,A,B,D

110. Rearrange the sentences in a logical order to

form a meaningful paragraph :
A Bu.t teachers may also find it useful.
B. It is 1.10t meant for elementary teachers.
C. Thisis a self-study grammar book.
D. They will find it beyond their ;lténdard-
oose the correct order :
C,B,A, D~ '
(2) A,B,C,D
(3) B,C,D, A
(4) C,A,B,D
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